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0ore and more companies, Jovernment aJencies, educational institutions and philanthropic orJanisations are 
today in tt�e Jrip of a new phenomenon� 
metric fixation
. The Ney components of metric fixation are the belief 
that it is possible � and desirable � to replace professional MudJment (acTuired throuJh personal experience 
and talent) 
:ith numerical indicators of comparative performance based upon standardised data (metrics)� 
and that the best way to motivate people 
:ithin these orJanisations is by attachinJ rewards and penalties to 
their measured performance. 

The rewards can be monetary, in the form of pay for performance, say, or reputational, in the form of colleJe 
ranNinJs, hospital ratinJs, surJical report cards and so on %ut the most dramatic neJative effect of metric 
fixation is its propensity to incentivise JaminJ� that is, encouraJinJ professionals to maximise the metrics in 
v�rays that are at odds 
:ith the larJer purpose of the orJanisation. I f  the rate of maMor crimes in a district 
becomes the metric accordinJ to which police officers are promoted, then some officers �1ill respond by simply 
not recordinJ crimes or downJradinJ them from maMor offences to misdemeanours. 2r taNe the case of 
surJeons. 9vhen the metrics of success and failure are made public � affectinJ their reputation and income �
some surJeons will improve their metric scores by refusinJ to operate on patients with more complex 
problems, whose surJical outcomes are more liNely to be neJative. 9vho suffers" The patients who don
t Jet 
operated upon. 

9vhen reward is tied to measured performance, metric fixation invites Must this sort of JaminJ. %ut metric 
fixation also leads to a variety of more subtle unintended neJative conseTuences. These include Joal 
displacement, which comes in many varieties� when performance is MudJed by a few measures, and the staNes 
are hiJh (NeepinJ one
s Mob, JettinJ a pay rise or raisinJ the stocN price at the time that stocN options are 
vested), people focus on satisfyinJ those measures � often at the expense of other, more important 
orJanisational Joals that are not measured. The best�Nnown example is 
teachinJ to the test
, a widespread 
phenomenon that has distorted primary and secondary education in the 8nited 6tates since the adoption of 
the 1R &KLOG /HIW %HKLQG $F WR I  200�. 

6hort�termism is another neJative 0easured performance encouraJes what the 86 socioloJist 5obert . 
0erton in ���� called 
the imperious immediacy of interests ... where the actor
s paramount concern 
:ith the 
foreseen immediate conseTuences excludes consideration of further or other conseTuences
. In short, 
advancinJ short�term Joals at the expense of lonJ�ranJe considerations. This problem is endemic to publicly 
traded corporations that sacrifice lonJ�term research and development, and the development of their staff, to 
the perceived imperatives of the Tuarterly report. 

To the debit side of the ledJer must also be added the transactional costs of metrics� the expenditure of 
employee time by those tasNed with compilinJ and processinJ the metrics in the first place � not to mention the 
time reTuired to actually read them . . . .
Sub questions 

Question Number: 1 Question Id: 4891686841 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9vhat is the main idea that the author is tryinJ to hiJhliJht in the passaJe" 
Options: 

�. � /onJ�term orJanisational Joals should not be iJnored for short�term measures of orJanisational success.
2 � $ll Ninds of orJanisations are now relyinJ on metrics to measure performance and to Jive rev�rards and 
punishments. 
�   (valuatinJ performance by usinJ measurable performance metrics may misJuide orJanisational Joal 
achievement. 
� � 3erformance measurement needs to be precise and cost�effective to be useful for evaluatinJ 
orJanisational performance. 

Question Number: 2 Question Id: 4891686842 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
$ll of the follo�winJ can be a possible feature of the 1R &KLOG /HIW�%HKLQG $FW of 200�, (;&(3T� 
Options: 

�. � school fundinJ and sanctions are tied to yearly improvement sho
.-lffi on tests. 
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2 • standardised test scores can be critical in determining a studenths educational future. 
3. the focus is more on test�taLing sLills than on higher order thinLing and problem�solving.
4 . . , ,  assessment is dependent on t11e teacherhs subKective evaluation of studentsh class participation.

Question Number: 3 Question Id: 4891686843 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Vin1ich of the following is /0T a consequence of the hmetric fiYationh phenomenon mentioned in the passage? 
Options: 

1. • Short�term orientation induced by frequent measurement of performance.
2 • Finding a vvay to show better results virithout actually improving performance.
3 . . , ,  Improving cooperation among employees leading to increased organisational effectiveness in the long 
run. 
4. • Deviating from organisationally important obKectives to measurable yet less important obKectives.

Question Number: 4 Question Id: 4891686844 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Vin1at main point does the author vvant to convey through the eYamples of the police officer and the surgeon? 
Options: 
1. • Some professionals are liLely to be significantly influenced by the design of performance measurement
systems.
2 . , ,  .etrics�linLed revvards may encourage unethical behaviour among some professionals. 
3. The actions of police officers and surgeons have a significantly impact on society.

4. • Critical public roles should not be evaluated on metrics�based performance measures.

Question Number: 5 Question Id: 4891686845 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
0f the following, which would have added the least depth to the authorhs argument? 
Options: 

1. • An analysis of the reasons why metrics fiYation is becoming popular despite its drawbacLs.
2. A comparative case study of metrics� and non�metrics�based evaluation, and its impact on the main 
goals of an organisation.
3 . . , ,  .ore real�life illustrations of the consequences of employees and professionals gaming metrics�based 
performance measurement systems. 
4. • Assessment of the pros and cons of a professional Kudgment�based evaluation system.

Question Id: 4891687182 Question Type: COMPRE+ENSION Sub Question Shuffling Allowed: Yes *roup Comprehension 
Questions: No 
Question Numbers : (6 to 10) 
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. . .  The compleYity of modern problems often predudes any one person from fully understanding them. 
Factors contributing to rising obesity levels, for eYample, include transportation systerns and infrastructure, 
media, convenience foods, changing social norms, human biology and psychological factors . . . .  The 
multidimensional or layered character of compleY problems also undermines the principle of meritocracy: the 
idea that the hbest personh should be hired There is no best person. =/hen putting together an oncological 
research team, a biotech company such as (ilead or (enentech would not construct a multiple�choice test and 
hire the top scorers, or hire people whose resumes score highest according to some performance criteria. 
Instead, they would seeL diversity. They would build a team of people who bring diverse Lnowledge bases, 
tools and analytic sLills . . .  

#elievers in a meritocracy might grant that teams ought to be diverse but then argue that meritocratic 
principles should apply within each category. Thus the team sl1ould consist of the hbesth mathematicians, the 
hbesth oncologists, and the hbesth biostatisticians from within the pool. That position suffers from a similar 
flaw. Even with a Lnowledge domain, no test or criteria applied to individuals will produce the best team. Each 
of these domains possesses such depth and breadth, that no test can eYist. Consider the field of neuroscience. 
6pwards of 50,000 papers were published last year covering various techniques, domains of enquiry and 
levels of analysis, ranging from molecules and synapses up through networLs of neurons. (iven that 
compleYity, any attempt to ranL a collection of neuroscientists from best to worst, as if they were competitors 
in the so�metre butterfly, must fail. V=lhat could be true is that given a specific tasL and the composition of a 
particular team, one scientist would be more liLely to contribute than another. 0ptimal hiring depends on 
conteYt. 0ptimal teams will be diverse. 

Evidence for this claim can be seen in the v,,ray that papers and patents that combine diverse ideas tend to ranL 
as high�impact. It can also be found in the structure of the so�called random decision forest, a state�of�the�
art machine�learning algorithm 3andom forests consist of ensembles of decision trees. If classifying pictures, 
each tree maLes a vote: is that a picture of a foY or a dog? A weighted maKority rules 3andom forests can 
serve many ends. They can identify banL fraud and diseases, recommend ceiling fans and predict online 
dating behaviour. V=lhen building a forest, you do not select the best trees as they tend to maLe similar 
classifications :ou Vvant diversity. 1rogrammers achieve that diversity by training each tree on different data, 
a technique Lno�wn as bagging. They also boost the forest hcognitivelyh by training trees on the hardest cases 
those that the current forest gets wrong. This ensures even more diversity and accurate forests. 

:et the fallacy of meritocracy persists. Corporations, non�profits, governments, universities and even 
preschools test, score and hire the hbesth. This all but guarantees not creating the best team. 3anLing people by 
common criteria produces homogeneity . . . .  Thaths not liLely to lead to breaLthroughs. 
Sub questions 

Question Number: 6 Question Id: 4891687183 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
=/hich of the following conditions would weaLen the efficacy of a random decision forest? 
Options: 

1 . . , ,  If a large number of decision trees in the ensemble rwere trained on data derived from easy cases. 
2 • If a large number of decision trees in the ensemble were trained on data derived from easy and hard 
cases. 
3. • If the types of ensembles of decision trees in the forest T/ere doubled.
4. • If the types of decision trees in each ensemble of the forest were doubled.

Question Number: 7 Question Id: 4891687184 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
0n the basis of the passage, which of the following teams is liLely to be most effective in solving the problem 
of rising obesity levels? 
Options: 
1. A team comprised of nutritionists, psychologists, urban planners and media personnel, who have each
scored a distinction in their respective subKect tests.
2 . , ,  A team comprised of nutritionists, psychologists, urban planners and media personnel, who have each 
performed vvell in their respective subKect tests. 
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3. • A specialised team of nutritionists from various countries, who are also trained in the machine�learning
algorithm of random decision forest
4. • A specialised team of top nutritionists from various countries, who also possess some Lnowledge of
psychology.

Question Number: 8 Question Id: 4891687185 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The author critiques meritocracy for all the following reasons EXCE1T that 
Options: 

1. • modern problems are multifaceted and require varied sLill�sets to be solved.
2. • diversity and conteYt�specificity are important for maLing maKor advances in any field.
3. • criteria designed to assess merit are insufficient to test eYpertise in any field of Lnowledge.
4. an ideal team comprises of best individuals from diverse fields of Lnowledge.

Question Number: 9 Question Id: 4891687186 Question Type: MCQ Display Question Number: Yes Single Line Question Option 
: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
8hich of the following conditions, if true, would invalidate the passagehs main argument? 
Options: 

1. • If assessment tests were made more eYtensive and rigorous.
2  If top�scorers possessed multidisciplinary Lnowledge that enabled them to looL at a problem from 
several perspectives. 
3. • If it were proven that teams characterised by diversity end up being conflicted about problems and taLe
a long time to arrive at a solution.
4 • If a new machine�learning algorithm were developed that proved to be more effective than the random 
decision forest. 

Question Number: 10 Question Id: 4891687187 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
8hich of the following best describes the purpose of the eYample of neuroscience? 
Options: 
1. In the modern age, every field of Lnowledge is so vast that a meaningful assessment of merit is 
impossible.
2 • 6nliLe other fields of Lnowledge, neuroscience is an eYceptionally compleY field, maLing a meaningful 
assessment of neuroscientists impossible. 
3. • In narrow fields of Lnowledge, a meaningful assessment of eYpertise has always been possible.
4. • /euroscience is an advanced field of science because of its connections with other branches of science
liLe oncology and biostatistics.

Question Id: 4891687256 Question Type: COMPRE+ENSION Sub Question Shuffling Allowed: Yes *roup Comprehension 
Questions: No 
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:ill a day come when India's poor can access government services as easily as drawing cash from an ATM? .. 
. >N@o country in the world has made accessing education or health or policing or dispute resolution as easy as 
an ATM, because the nature of these activities requires individuals to use their discretion in a positive way. 
Technology can certainly facilitate this in a variety of ways i f  it is seen as one part of an overall approach, but 
the evidence so far in education, for instance, is that Must adding computers alone doesn't make education any 
better. ... 

The dangerous illusion of technology is that it can create stronger, top dom1 accountability of service 
providers in implementation-intensive services within existing public sector organisations. 2ne notion is that 
electronic management information systems (EMI6) keep better track of inputs and those aspects of personnel 
that are 'EMI 6 visible' can lead to better services A recent study examined attempts to increase attendance of 
Auxiliary Nurse Midwife (ANMs) at clinics in 5aMasthan, which involved high-tech time clocks to monitor 
attendance. The study's title says it all: Band-Aids on a Corpse ... e-governance can be Must as bad as any 
other governance when the real issue is people and their motivation. 
)or services to improve, the people providing the services have to want to do a better Mob with the skills they 
have. A study of medical care in Delhi found that even though providers, in the public sector had much better 
skills than private sector providers their provision of care in actual practice was much worse. 

In implementation-intensive services the key to success is face-to-face interactions between a teacher, a 
nurse, a policeman, an extension agent and a citi]en. This relationship is about power. Amartya 6en's ... 
report on education in :est Bengal had a supremely telling anecdote in which the villagers forced the teacher' 
to attend school, but then, when the parents went off to work, the teacher did not teach, but forced the 
children to massage his feet . . . .  As long as the system empov,,ers providers over citi]ens, technology is 
irrelevant. 

The answer to successfully providing basic services is to create systems that provide both autonomy and 
accountability. In basic education for instance, the answer to poor teaching is not controlling teachers more . 
The key ... is to hire teachers who want to teach and let them teach, expressing their professionalism and 
vocation as a teacher through autonomy in the classroom. This autonomy has to be matched with 
accountability for results-not Must narrowly measured through test scores, but broadly for the quality of the 
education they provide. 

A recent study in 8ttar Pradesh shov,,ed that if, somehow, all civil service teachers could be replaced with 
contract teachers, the state could save a billion dollars a year in revenue and double student learning. Just the 
additional autonomy and accountability of contracts through local groups-even without complementary 
system changes in information and empowerment-led to that much improvement. The first step to being part 
of the solution is to create performance information accessible to those outside of the government. ... 
Sub questions 

Question Number: 11 Question Id: 4891687257 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The main purpose of the passage is to: 
Options: 

1. • critique the government's involvement in educational activities and other implementation -intensive
services.

2 . ,  argue that some types of services can be improved by providing independence and requiring 
accountability. 

3. • analyse the shortcomings of government-appointed nurses and their management through technology.

4. • find a solution to the problem of poor service delivety in education by examining different strategies.

Question Number: 12 Question Id: 4891687258 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
In the context of the passage, v,,e can infer that the title �Band Aids on a Corpse� (in paragraph 2) suggests that: 
Options: 

1. • the nurses who attended the clinics were too poorly trained to provide appropriate medical care.

2 . ,  the electronic monitoring system was a superficial solution to a serious problem.
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3. • the nurses attended the clinics, but the clinics v,.rere ill�equipped.
4. the clinics v,.rere better funded, but performance monitoring did not result in any improvement

Question Number: 13 Question Id: 4891687259 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
According to the author, service delivery in Indian education can be improved in all of the following ways 
EXCE1T through: 
Options: 
1. • use of technology.
2. • recruitment of motivated teachers.
3. • access to information on the quality of teaching.
4 . . ,  elimination of government involvement.

Question Number: 14 Question Id: 4891687260 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The author questions the use of monitoring systems in services that involve face�to�face interaction betv,.reen 
service providers and clients because such systems: 
Options: 

1 . . ,  do not improve services that need committed service providers. 
2 • are not as effective in the public sector as they are in the private sector. 
3. • improve the sLills but do not increase the motivation of service providers.
4. are ineffective because they are managed by the government.

Question Number: 15 Question Id: 4891687262 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
8hich of the following, IF T36E, would undermine the passagehs main argument? 
Options: 
1. • If absolute instead of moderate technological surveillance is eYercised over the performance of service
providers.
2 . ,  Empov,.rerment of service providers leads to increased complacency and rigged performance results. 
3. If it v,.rere proven that increase in autonomy of service providers leads to an eYponential increase in their
worL ethic and sense of responsibility.
4. • If it v,.rere proven that service providers in the private sector have better sLills than those in the public
sector.

Question Id: 4891687279 Question Type: COMPRE+ENSION Sub Question Shuffling Allowed: Yes *roup Comprehension 
Questions: No 
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N2T everything looks lovelier the longer and closer its inspection. But 6aturn does. It is gorgeous through 
Earthly telescopes. +owever, the 13 years of close observation provided by Cassini, an American spacecraft, 
showed the planet, its moons and its remarkable rings off better and better, revealing finer structures, striking 
novelties and greater drama .... 

By and large the big things in the solar system-planets and moons-are thought of as having been around 
since the beginning. The suggestion that rings and moons are new is, though, made even more interesting by 
the fact that one of those moons, Enceladus, is widely considered the most promising site in the solar system 
on which to look for alien life. If Enceladus is both young and bears life, that life must have come into being 
quickly. This is also believed to have been the case on Earth. :ere it true on Enceladus, that would encourage 
the idea that life evolves easily when conditions are right. 

2ne reason for thinking 6aturn's rings are young is that they are bright. The solar system is suffused with 
comet dust, and comet dust is dark. Leaving 6aturn's ring system (which Cassini has shown to be more than 
�0� v,,ater ice) out in such a mist is like leaving laundry hanging on a line downwind from a smokestack: it will 
get dirty The lighter the rings are, the faster this will happen, for the less mass they contain, the less celestial 
pollution they can absorb before they start to discolour .... Jeff Cu]]i, a scientist at America's space agency, 
NA6A, who helped run Cassini, told the Lunar and Planetary 6cience Conference in +ouston that combining 
the mass estimates with Cassini's measurements of the density of comet-dust near 6aturn suggests the rings 
are no older than the first dinosaurs, nor younger than the last of them-that is, they are somewhere between 
200m and 70m years old. 

That timing fits well vvi.th a theory put forv,,ard in 2016, by MatiMa Cuk of the 6ETI Institute, in California and 
his colleagues. They suggest that at around the same time as the rings came into being an old set of moons 
orbiting 6aturn destroyed themselves, and from their remains emerged not only the rings but also the planet's 
current suite of inner moons-5hea, Dione, Tethys, Enceladus and Mimas .... 

Dr Cuk and his colleagues used computer simulations of 6aturn's moons' orbits as a sort of time machine. 
Looking at the rate at which tidal friction is causing these orbits to lengthen they extrapolated backwards to 
find out what those orbits would have looked like in the past. They discovered that about l02m years ago the 
orbits of two of them, Tethys and Dione, would have interacted in a v,,ay that left the planes in which they orbit 
markedly tilted. But their orbits are untilted. The obvious, if unsettling, conclusion v,,as that this interaction 
never happened-and thus that at the time when it should have happened, Dione and Tethys were simply not 
there. They must have come into being later .... 
Sub questions 

Question Number: 16 Question Id: 4891687280 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The main obMective of the passage is to: 
Options: 

1. . ,  provide evidence that 6aturn's rings and moons are recent creations.

2 • highlight the beauty, finer structures and celestial drama of 6aturn's rings and moons. 

3. • demonstrate how the orbital patterns of 6aturn's rings and moons change over time. 

4. • establish that 6aturn's rings and inner moons have been around since the beginning of time. 

Question Number: 17 Question Id: 4891687281 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Based on information provided in the passage, we can infer that, in addition to water ice, 6aturn's rings might 
also have small amounts of: 
Options: 

1. • methane and rock particles.

2 . ,  rock particles and comet dust.

3. • helium and methane. 

4. • helium and comet dust.
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Question Number: 18 Question Id: 4891687282 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
%aseG RQ iQIRrmaWiRQ SrRYiGeG iQ WKe SassaJe� Ze caQ cRQcluGe all RI WKe IRllRZiQJ E;&E37� 
Options: 

1. • 6aWurQ
s liJKWer riQJs GiscRlRur IasWer WKaQ riQJs ZiWK JreaWer mass.
2 • 7KeWK\s aQG 'iRQe are less WKaQ 100 milliRQ \ears RlG. 
� . .�� QRQe RI 6aWurQ
s mRRQs eYer KaG suiWaEle cRQGiWiRQs IRr liIe WR eYRlYe. 
4. 6aWurQ
s riQJs Zere creaWeG IrRm WKe remaiQs RI RlGer mRRQs.

Question Number: 19 Question Id: 4891687283 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7Ke SKrase �leaYiQJ lauQGr\ KaQJiQJ RQ a liQe GRZQZiQG IrRm a smRNesWacN� is useG WR e[SlaiQ KRZ WKe 
riQJeG SlaQeW
s� 
Options: 

1. • aWmRsSKere aEsRrEs cRmeW GusW.
2 • mRRQs creaWe a JaS EeWY..eeQ WKe riQJs.
� . .�� riQJs GiscRlRur aQG GarNeQ RYer Wime. 
4. • riQJs lRse mass RYer Wime

Question Number: 20 Question Id: 4891687284 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
'aWa SrRYiGeG E\ &assiQi cKalleQJeG WKe assumSWiRQ WKaW� 
Options: 

1 . .�� all EiJ WKiQJs iQ WKe sRlar s\sWem 11aYe EeeQ arRuQG siQce WKe EeJiQQiQJ. 
2. • QeZ celesWial ERGies caQ IRrm IrRm WKe GesWrucWiRQ RI RlG celesWial ERGies.
�. • 6aWurQ
s riQJ s\sWem is cRmSRseG mRsWl\ RI ZaWer ice. 
4. • WKere Zas liIe RQ earWK ZKeQ 6aWurQ
s riQJs Zere EeiQJ IRrmeG.

Question Id: 4891686713 Question Type: COMPRE+ENSION Sub Question Shuffling Allowed: Yes *roup Comprehension 
Questions: No 
Question Numbers : (21 to 24) 
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. . .  *rove snails as a whole are distributed all over (urope, but a specific variety of the snail, with a distinctive 
wt�ite�lipped shell, is found exclusively in Ireland and in the 3yrenees mountains that lie on t��e border 
between )rance and 6pain. The researchers sampled a total of �2� snail specimens from �� sites distributed 
across (urope, with an emphasis on JatherinJ larJe numbers of the white�lipped variety. :hen they 
seTuenced Jenes from the mitochondrial '1$ of each of these snails and used alJorithms to analyze the 
Jenetic diversity between them, they found that. .. a distinct lineaJe (the snails with the white�lipped shells) 
9vas indeed endemic to the two very specific and distant places in Tuestion. 

(xplaininJ this is tricNy. 3reviously, some had speculated that the stranJe distributions of creatures such as 
the white�lipped Jrove snails could be explained by converJent evolution�in which two populations evolve 
the same trait by coincidence�but the underlyinJ Jenetic similarities between the two Jroups rules that out 
$lternately, some scientists had suJJested that the white�lipped variety had simply spread over the whole 
continent, then been wiped out everywhere besides Ireland and the 3yrenees, but the researchers say their 
samplinJ and subseTuent '1$ analysis eliminate that possibility too. �If the snails naturally colonized 
Ireland, you would expect to find some of the same Jenetic type in other areas of (urope, especially %ritain. :e 
Must don
t find them, 9 'avidson, the lead autl�or, said in a press statement. 

0oreover, i f  they
d Jradually spread across the continent, there would be some Jenetic variation within the 
white�lipped type, because evolution would introduce variety over the thousands of years it would have taNen 
them to spread from the 3yrenees to Ireland. That variation doesn
t exist, at least in the Jenes sampled. This 
means that rather than the orJanism Jradually expandinJ its ranJe, larJe populations instead were somehow 
moved en mass to the other location within the space of a few dozen Jenerations, ensurinJ a lacN of Jenetic 
variety. 

�There is a very clear pattern, which is difficult to explain except by involvinJ humans�� 'avidson said. 
+umans, after all, colonized Ireland rouJhly �,000 years aJo, and the oldest fossil evidence of Jrove snails in 
Ireland dates to rouJhly the same era. $dditionally, there is archaeoloJical evidence of early sea trade between 
the ancient peoples of 6pain and Ireland via the $tlantic and even evidence that humans routinely ate these 
types of snails before the advent of aJriculture, as their burnt shells have been found in 6tone $Je trash heaps. 

The simplest explanation, then" %oats. These snails may have inadvertently traveled on the floor of the small, 
coast�huJJinJ sNiffs these early humans used for travel, or they may have been intentionally carried to 
Ireland by the seafarers as a food source. �The hiJhways of the past were rivers and the ocean�as the river 
that flanNs the 3yrenees 9vas an ancient trade route to the $tlantic, what we
re actually seeinJ miJht be the 
lonJ lastinJ leJacy of snails that hitched a ride ... as humans travelled from the 6outh of )rance to Ireland 
8,000 years aJo,� 'avidson said. 
Sub questions 

Question Number: 21 Question Id: 4891686714 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The passaJe outlines several hypotheses and evidence related to white�lipped Jrove snails to arrive at the most 
convincinJ explanation for� 
Options: 
�. � why the white�lipped variety of Jrove snails were wiped out everywhere except in Ireland and the 
3yrenees.
2 � how the white�lipped variety of Jrove snails independently evolved in Ireland and the 3yrenees. 
� . . ,  why the white�lipped variety of Jrove snails are found only in Ireland and the 3yrenees. 
�. � how the white�lipped variety of Jrove snails miJht have miJrated from the 3yrenees to Ireland.

Question Number: 22 Question Id: 4891686715 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
$ll of the follovvinJ evidence supports the passaJe
s explanation of sea travel/trade (;&(3T� 
Options: 
� . . ,  the coincidental existence of similar traits in the white�lipped Jrove snails of Ireland and the 3yrenees
because of converJent evolution.

the snail, with a distinctive 
that lie on t��e border 

from �� sites distributed 
variety. :hen they 

alJorithms to analyze the 
the white�lipped shells) 

distributions of creatures such as 
two populations evolve 

two rules that out 



2. • the oldest fossil evidence of white-lipped grove snails in Ireland dates back to roughly �,000 years ago, 
the time when humans colonised Ireland.

3. • absence of genetic variation within the white-lipped grove snails of Ireland and the Pyrenees, whose 
genes -were sampled.

4. • archaeological evidence of early sea trade bet-ween the ancient peoples of 6pain and Ireland via the 
Atlantic 2cean. 

Question Number: 23 Question Id: 4891686716 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
In paragraph 4, the evidence that �humans routinely ate these types of snails before the advent of agriculturen

can be used to conclude that 
Options: 
1. • white-lipped grove snails may have inadvertently traveled from the Pyrenees to Ireland on the floor of
the small, coast-hugging skiffs tl1at early seafarers used for travel.

2 . ,  the seafarers who traveled from the Pyrenees to Ireland might have carried white-lipped grove snails 
with them as edibles. 

3. • rivers and oceans in the 6tone Age facilitated trade in white-lipped grove snails.

4 • �,000 years ago, during the 6tone Age, humans traveled from the 6outh of )rance to Ireland via the 
Atlantic 2cean. 

Question Number: 24 Question Id: 4891686717 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
:hich one of the following makes the author eliminate convergent evolution as a probable explanation for why 
white-lipped grove snails are found in Ireland and the Pyrenees? 
Options: 

1. . ,  The absence of genetic variation bet-ween white-lipped grove snails of Ireland and the Pyrenees. 

2 • The absence of genetic similarities bet-ween white-lipped grove snails of Ireland and snails from other 
parts of Europe, especially Britain. 

3. • The coincidental evolution of similar traits (white-lipped shell) in the grove snails of Ireland and the 
Pyrenees. 

4. • The distinct lineage of white-lipped grove snails found specifically in Ireland and the Pyrenees. 

Sub-Section Number: 
Sub-Section Id: 
Question Shuffling Allowed : 

2 
�8�1�81�08 
:FT 

Question Number: 25 Question Id: 4891686606 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The passage given below is follow-ed by four summaries. Choose the option that best captures the author's 
position. 

The early optimism about sport's deterrent effects on delinquency was premature as researchers failed to find 
any consistent relationships between sports participation and deviance. As the initial studies were based upon 
cross-sectional data and the effects captured -were short-term, it was problematic to test and verify the 
temporal sequencing of events suggested by the deterrence theory. The correlation bet-ween sport and 
delinquency could not be disentangled from class and cultural variables known. Choosing individuals to play 
sports in the first place was problematic, which became more acute in the subsequent decades as researcl1ers 
began to document Just how closely sports participation was linked to social class indicators. 
Options: 

roughly �,000 years ago, 

and the Pyrenees, whose 

6pain and Ireland via the 

Yes Single Line Question 



1. • There is a direct relationship between sport participation and delinquency but it needs more empirical
evidence.
2. • Contradicting the previous optimism, latter researchers have proved that there is no consistent
relationship between sports participation and deviance.
3 . .,, Statistical and empirical weaknesses stand in the way of inferring any relationship between sports 
participation and deviance. 
4. Sports participation is linked to class and cultural variables such as education, income, and social capital.

Question Number: 26 Question Id: 4891686615 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The passage given below is followed by four summaries. Choose the option that best captures the author's 
position. 

Should the moral obligation to rescue and aid persons in grave peril, felt by a few, be enforced by the criminal 
law? Should w e  follow the lead of a number of European countries and enact bad Samaritan laws? Proponents 
of bad Samaritan laws must overcome at least three different sorts of obstacles. First, they must show the laws 
are morally legitimate in principle, that is, that the duty to aid others is a proper candidate for legal 
enforcement. Second, tl1ey must show that this duty to aid can be defined in a way that can be fairly enforced 
by the courts. Third, they must show that the benefits of the laws are worth their problems, risks and costs. 
Options: 

1. • Everyone agrees that people ought to aid others, the only debate is whether to have a law on it.
2. • A number of European countries that have successfully enacted bad Samaritan la'io\:rs may serve as model
statutes.
3 . .,, Bad Samaritan laws m a y  be desirable but they need to be tested for legal soundness. 
4. • If bad Samaritan laws are found to be legally sound and enforceable they must be enacted.

Question Number: 27 Question Id: 4891686832 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The passage given below is followed by four summaries. Choose the option that best captures the author's 
position: 

A Japanese government panel announced that it recommends regulating only genetically modified organisms 
that have had foreign genes permanently introduced into their genomes and not those whose endogenous 
genes have been edited. The only stipulation is that researchers and businesses will have to register their 
modifications to plants or animals with the government, with the exception of microbes cultured in contained 
environments. Reactions to the decision are mixed. While lauding the potential benefits of genome editing, an 
editorial opposes across-the-board permission. Unforeseen risks in gene editing cannot be ruled out. All 
genetically modified products must go through the same safety and labeling processes regardless of method. 
Options: 

1. 
A government panel in Japan says transgenic modification and genome editing are not the same. 

2 . •  
Creating categories within genetically modified products in terms of transgenic modification and genome 
editing advances science but defies laws. 

� . . � �  
Exempting from regulations the editing of endogenous genes is not desirable as this procedure might be risk-
prone. 

4 • Excepting microbes cultured in contained environments from the regulations of genome editing is 
premature. 

Question Number: 28 Question Id: 4891686576 Question Type: SA Display Question Number: Yes 

it needs more empirical

is no consistent
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Correct Marks : 3 Wrong Marks : 0 
The four sentences (Jabelled 1, 2, 3, and 4) given in this question, when properly sequenced, form a coherent 
paragraph Decide on the proper order for the sentences and key in this sequence of four numbers as your 
answer. 

1. It was his taxpayers who had to shell out as much as �1.6bn over 10 years to employees of failed
companies.

2. Companies in many countries routinely engage in such activities which means that the employees are 
left with unpaid entitlements

3. Deliberate and systematic liquidation of a company to avoid liabilities and then restarting the business
is called phoenixing.

4. The Australian Minister for 5evenue and 6ervices discovered in an audit that phoenixing had cost the 
Australian economy between � 2. �bn and � 5 .1 bn last year. 

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
�241 

Question Number: 29 Question Id: 4891686587 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
The four sentences (Jabelled 1, 2, 3, and 4) given in this question, when properly sequenced, form a coherent 
paragraph. Decide on the proper order for the sentences and key in this sequence of four numbers as your 
answer. 

1. 6elf-management is thus defined as the 'individual's ability to manage the symptoms, treatment,
physical and psychosocial consequences and lifestyle changes inherent in living with a chronic
condition'.

2. Most people with progressive diseases like dementia prefer to have control over their own lives and
health-care for as long as possible.

3. +aving control means, among other things, that patients themselves perform self-management
activities.

4. 6upporting people in decisions and actions that promote self-management is called self-management
support requiring a cooperative relationship between the patient, the family, and the professionals.

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
2�14 

Question Number: 30 Question Id: 4891686823 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
The four sentences (Jabelled 1,2,3,4) given in this question, when properly sequenced, form a coherent 
paragraph. Each sentence is labelled with a number. Decide on the proper sequence of order of the sentences 
and key in this sequence of four numbers as your answer: 

1. They would rather do virtuous side proMects assiduously as long as these would not compel them into
doing their day Mobs more honourably or reduce the profit margins.

2. They would fund a million of the bu]]wordy programs rather than fundamentally question the rules
of their game or alter their own behavior to reduce the harm of the existing distorted, inefficient and
unfair rules.

3. Like the dieter who would rather do anything to lose weight than actually eat less, the business elite 
would save the world through social-impact-investing and philanthro-capitalism.

4. Doing the right thing - and moving away from their vvin -win mentality - would involve real sacrifice;
instead, it's easier to focus on their pet proMects and initiatives.

Response Type: Numeric 
Evaluation Required For SA: Yes 

sequenced, form a coherent 
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to employees of failed
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Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
�241 

Question Number: 31 Question Id: 4891687266 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
The four sentences (labelled 1,2,3,4) given in this question, when properly sequenced, form a coherent 
paragraph. Each sentence is labelled with a number. Decide on the proper sequence of order of the sentences 
and key in this sequence of four numbers as your answer: 

1. In the era of smart world, however, '8niversal Basic Income' is an ineffective instrument which cannot
address the potential breakdov,m of the social contract when large swathes of the population would
effectively be unemployed.

2. In the era of industrial revolution, the abolition of child labour, poor laws and the growth of trade
unions helped families cope with the pressures of mechanised work. 

3. *rowing inequality could be matched by a creeping authoritarianism that is bolstered by technology
that is increasingly able to peer into the deepest vestiges of our lives.

4. New institutions emerge which recognise ways in which workers could contribute to and benefit by
economic growth when, rather than if, their Mobs are automated.

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
421� 

Question Number: 32 Question Id: 4891686594 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
)ive sentences related to a topic are given below. )our of them can be put together to form a meaningful and 
coherent short paragraph. Identify the odd one out. 

1. As India looks to increase the number of cities, our urban planning must factor in potential natural
disasters and work out contingencies in advance.

2. Authorities must revise data and upgrade infrastructure and mitigation plans even i f  their local area 
hasn't been visited by a natural calamity yet. 

3. Extreme temperatures, droughts, and forest fires have more than doubled since 1�80. 
4. There is no denying the fact that our baseline normal weather is changing.
5. It 1s no longer a question of whether we will be hit by nature's fury but rather when. 

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
� 

Question Number: 33 Question Id: 4891686602 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
)ive sentences related to a topic are given below. )our of them can be put together to form a meaningful and 
coherent short paragraph. Identify the odd one out. 

1. Much has been recently discovered about the development of songs in birds.
2. 6ome species are restricted to a single song learned by all individuals, others have a range of songs.
3. The most important auditory stimuli for the birds are the sounds of other birds.
4. )or all bird species there is a prescribed path to development of the final song, 
5. A bird begins ·Nith the subsong, passes through plastic song, until it achieves the species song. 

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 

Yes 

sequenced, form a coherent 
of order of the sentences 



Answers Type: Equal 
Possible Answers : 
� 

Question Number: 34 Question Id: 4891687286 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
)ive sentences related to a topic are Jiven below. )our of them can be put toJether to form a meaninJful and 
coherent short paraJraph. Identify the odd one out. &hoose its number as your answer and Ney the number in� 

�.0ur smartphones can now tracN our diets, our bioloJical cycles, even our diJestive systems and sleep�
patterns. 
2.5esearchers have even coined a new term, �orthosomnia�
, to describe the insomnia brouJht on by payinJ too 
much attention to smartphones and sleep�tracNinJ apps. 
�.6leep, nature
s soft nurse, is a blissful, untroubled state all too easily disturbed by earthly worries or a Juilty 
conscience. 
�.The existence of a marNet for such apps is unsurprisinJ� shift worN, a lonJ�hours culture and blue liJht 
from screens have conspired to rob many of us of sufficient rest. 
5.$ new threat to a Jood niJht
s rest has emerJed � smart�phones, with sleep�tracNinJ apps. 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
� 

Section Id: 
Section Number: 
Section type : 
Mandatory or Optional: 
Number of Questions: 
Number of Questions to be attempted: 
Section Marks: 
Display Number Panel: 
*roup All Questions: 

Sub-Section Number: 
Sub-Section Id: 
Question Shuffling Allowed : 

',/5 

4891�81�0� 
1 
2QliQe 
0aQGaWRr\ 
8 
8 
9� 
Yes 
NR 

1 
4891�81409 
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Question Id : 4891686538 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (35 to 38) 

Yes 

to form a meaninJful and 
answer and Ney the number in� 

systems and sleep�



An agency entrusted to accredit colleges looks at four parameters: faculty quality ()), reputation �5�� placement 
quality (P), and infrastructure 0�. The four parameters are used to arrive at an overall score, which the agency
uses to give an accreditation to the colleges. In each parameter, there are five possible letter grades given, each 
carrying certain points: A (50 points), B (40 points), C (30 points), D (20 points), and ) (0 points). The overall 
score for a college is the weighted sum of the points scored in the four parameters. The weights of the 
parameters are 2 1, 0.2, 0.3 and 04 in some order, but the order is not disclosed. Accreditation is av,,,arded 
based on the follov.n.ng scheme: 

5ange Accreditation , 
2verall score 2���� 45 AAA , 

35 s 2verall score � 45 BAA 
25 s 2verall score � 35 BBA 
15 :s 2verall score � 2 5 ### 

2verall score � 15 Junk 

Eight colleges apply for accreditation, and receive the follov.n.ng grades in the four parameters �)� 5, P, and I): 

A-one
Best Ed 
Cosmopolitan
Dominance
ducation Aid

fancy
*lobal� � � �

+ighQ 

F 
A 
B 
% 
D 
$ 
A 
C 
C 

I R p 
� A A 
I C ' 
, D ' 
I D B 
, $ % 
, A B 
I ) ' 
, ' ' 

It is further knovm that in terms of overall scores: 

1. +igh 4 is better than Best Ed; 
2. Best Ed is better than Cosmopolitan; and
3. Education Aid is better than A-one.

Sub questions 

, 
B 
' 
C 
& 
A 
B 

% 

Question Number: 35 Question Id: 4891686539 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9i!hat is the weight of the faculty quality parameter? 
Options: 

1. �.I 0.1
2 • 0.2 
� . • 0.� 
4. • 0.4 

Question Number: 36 Question Id: 4891687417 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
+ow many colleges receive the accreditation of AAA? 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
� 

Question Number: 37 Question Id: 4891687418 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

()), reputation �5�� placement 
overall score, which the agency

possible letter grades given, each 
) (0 points). The overall 

The weights of the 
Accreditation is av,,,arded 



What is the h ighest  overall score a m o n g  the e ight  co l leges?  
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
48 

Question Number: 38 Question Id: 4891686543 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
+RZ maQ\ cRlleJes KaYe RYerall scRres EeWZeeQ �1 aQG 40� ERWK iQclusiYe" 
Options: 

1. . � �  0 
2. • 1 
�. �C 2
4. �

Question Id : 4891686977 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (39 to 42) 

Yes Single Line Question 



Each of the 23 boxes in the picture below represents a product manufactured by one of the following three 
companies: Alfa, Bravo and Ct1arlie. The area of a box is proportional to the revenue from the corresponding 
product, while its centre represents the Product popularity and Market potential scores of  the product (out of  
20). The shadings of  some of the boxes have got erased. 
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The companies classified their products into four categories based on a combination of scores (out of  20) on 
the tv110 parameters - Product popularity and Market potential as given below: 

I II Promising II Blockbuster II Doubtful II No-hope
IProduct popularity score 11 �10 II !10 'I �sl2 II :s 10 I 
!Market potential score II �10 �, TM0 , �10 II slO I 

The following facts are known: 

1. Alfa and Bravo had the same number of products in the Blockbuster category.
2. Charlie had more products than Bravo but fewer products than Alfa in the No-hope category.
3 Each company had an equal number of products in the Promising category
4. Charlie did not have any product in the Doubtful category, while Alfa had one product more than

Bravo in this category.
5. Bravo had a higher revenue than Alfa from products in the Doubtful category.
6. Charlie had a higher revenue than Bravo from products in the Blockbuster category.
7. Bravo and Charlie had the same revenue from products in the No-hope category.
8. Alfa and Charlie had the same total revenue considering all products.

Sub questions 

Question Number: 39 Question Id: 4891686981 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Considering all companies' products, which product category had the highest revenue? 
Options: 

1. • Promising

2. • Doubtful

one of the following three 
from the corresponding 

scores of  the product (out of  



� . . �  %lRcNEusWer 
4. NR�KRSe

Question Number: 40 Question Id: 4891686978 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
:KicK RI WKe IRllRZiQJ is WKe cRrrecW sequeQce RI QumEers RI SrRGucWs %raYR KaG iQ NR�KRSe� 'RuEWIul� 
3rRmisiQJ aQG %lRcNEusWer caWeJRries resSecWiYel\" 
Options: 
1. ; 2���1�2
2. �C 1���1��
� . . �  1���1�2
4. �C ����1�2

Question Number: 41 Question Id: 4891686979 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
:KicK RI WKe IRllRZiQJ sWaWemeQWs is N27 cRrrecW" 
Options: 

1. • $lIa
s reYeQue IrRm %lRcNEusWer SrRGucWs 
1�11�.6 WKe same as &Karlie
s reYeQue IrRm 3rRmisiQJ SrRGucWs
2 • %raYR aQG &Karlie KaG WKe same reYeQues IrRm NR�KRSe SrRGucWs
�. • 7Ke WRWal reYeQue IrRm NR�KRSe SrRGucWs 
1�11�.6 less WKaQ WKe WRWal reYeQue IrRm 'RuEWIul SrRGucWs
4 . . �  %raYR
s reYeQue IrRm %lRcNEusWer SrRGucWs 
1�11�.6 JreaWer WKaQ $lIa
s reYeQue IrRm 'RuEWIul SrRGucWs

Question Number: 42 Question Id: 4891686982 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
,I WKe smallesW ER[ RQ WKe JriG is equiYaleQW WR reYeQue RI 5s.1 crRre� WKeQ ZKaW aSSrR[imaWel\ 
1�11�.6 WKe WRWal 
reYeQue RI %raYR iQ 5s. crRre" 
Options: 

1. • 24 
2 ; �0 
�. . �  �4
4 ; 40

Question Id : 4891686986 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (43 to 46) 

Yes Single Line Question 

NR�KRSe� 'RuEWIul� 



7Kere are RQl\ IRur EraQGs RI eQWr\ leYel smarWSKRQes calleG $]ra� %\si� &[qi� aQG 'iSq iQ a cRuQWr\. 
'eWails aERuW WKeir marNeW sKare� uQiW selliQJ Srice� aQG SrRIiWaEiliW\ �GeIiQeG as WKe SrRIiW as a SerceQWaJe RI 
WKe reYeQue� IRr WKe \ear 201� are JiYeQ iQ WKe WaEle EelRZ� 

Brand 0arNet 8nit 6ellinJ 3rofitability 
share(�) Pric,e (Rs.) ��� 

$zra �0 1��000 10 
Bysi 2� 20 000 30 
Cxqi 1� 30,000 40 
Dipq 20 25,000 30 

,Q 201�� sales YRlume RI eQWr\ leYel smarWSKRQes JreZ E\ 40� as cRmSareG WR WKaW iQ 201�. &[qi RIIereG a 
40� GiscRuQW RQ iWs uQiW selliQJ Srice iQ 201�� Zl1icK resulWeG iQ a 1�� iQcrease iQ iWs marNeW sKare. EacK RI WKe 
RWKer WKree EraQGs lRsW �� marNeW sKare. +RZeYer� WKe SrRIiWaEiliW\ RI &[qi came GRZQ WR KalI RI iWs Yalue iQ 
201�. 7Ke uQiW selliQJ Srices RI WKe RWKer WKree EraQGs aQG WKeir SrRIiWaEiliW\ Yalues remaiQeG WKe same iQ 
201 � as WKe\ Y��ere iQ 201�. 

Sub questions 

Question Number: 43 Question Id: 4891686987 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7Ke EraQG WKaW KaG WKe KiJKesW reYeQue iQ 201� is� 
Options: 

1 . . �  $]ra 
2 �C %\si 
�. &[qi 
4. • 'iSq

Question Number: 44 Question Id: 4891686988 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7Ke EraQG WKaW KaG WKe KiJKesW SrRIiW iQ 201� is� 
Options: 
1. • $]ra
2 • %\si 
� . . �  &[qi 
4. �C 'iSq

Question Number: 45 Question Id: 4891686989 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7Ke EraQG WKaW KaG WKe KiJKesW SrRIiW iQ 201� is� 
Options: 

1. • $]ra
2 . .�%\si
�. �C &[qi 
4. �C 'iSq

Question Number: 46 Question Id: 4891686990 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7Ke cRmSleWe lisW RI EraQGs ZKRse SrRIiWs ZeQW uS iQ 201� IrRm 201� is� 
Options: 

'iSq iQ a cRuQWr\. 
SrRIiW as a SerceQWaJe RI 



�. � $zra, %ysi, &xTi
2. %ysi, &xTi, 'ipT
�. � &xTi, $zra, 'ipT
� . . ,  $zra, %ysi, 'ipT

Question Id : 4891687061 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (47 to 50) 
)un 6ports ()6) provides traininJ in three sports � *illi�danda (*), .ho�.ho (.), and /udo (/). &urrently it has 
an enrollment of �� students each of whom is enrolled in at least one of the three sports. The follo9llinJ details 
areNno � 

�. The number of students enrolled only in / i s  double the number of students enrolled in all the three
sports.

2. There are a total of �7 students enrolled in *. 
�. The number of students enrolled only in * is one less than the number of students enrolled only in /. 
�. The number of students enrolled only in . is eTual to the number of students who are enrolled in both

.and  /. 
5. The maximum student enrollment is in /. 
�. Ten students enrolled in *are also enrolled in at least one more sport

Sub questions 

Question Number: 47 Question Id: 4891687413 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
VVhat is the minimum number  o f  s tudents  enrolled in both * and L but not  in .? 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
4 

Question Number: 48 Question Id: 4891687063 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
I f  the numbers of students enrolled in .and  /are in the ratio ���22, then what is the number of students 
enrolled in /" 
Options: 

�. ; �7 
2 ; �� 
� . . ,  22 
�. ; �8 

Question Number: 49 Question Id: 4891687414 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
Due to academic pressure, s tudents  w h o  were enrolled in all three sports were  asked to withdraw from one  
o f  the three sports. After the withdrawal, the number  o f  s tudents  enrolled in * w a s  six less than the number
o f  students  enrolled in L, while the number  o f  s tudents  enrolled in . w e n t  down by one .  After the
withdrawal, how many students  were  enrolled in both * and .? 

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
2 

No *roup Comprehension 

/udo (/). &urrently it has 



Question Number: 50 Question Id: 4891687065 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
'XH WR DFDGHPLF SUHVVXUH� VWXGHQWV ZKR ZHUH HQUROOHG LQ DOO WKUHH VSRUWV ZHUH DVNHG WR ZLWKGUDZ IURP RQH 
RI WKH WKUHH VSRUWV� $IWHU WKH ZLWKGUDZDO� WKH QXPEHU RI VWXGHQWV HQUROOHG LQ * ZDV VL[ OHVV WKDQ WKH QXPEHU 
RI VWXGHQWV HQUROOHG LQ /� ZKLOH WKH QXPEHU RI VWXGHQWV HQUROOHG LQ . ZHQW GRZQ E\ RQH� $IW-HU WKH 
ZLWKGUDZDO� KRZ PDQ\ VWXGHQWV ZHUH HQUROOHG LQ ERWK * DQG /? 
Options: 
1. • 7

2 ; 5

3. • 8

4 . . , ,  6

Question Id : 4891686562 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (51 to 54) 
According to a coding s c h e m e  the sentence 
3HDFRFN LV GHVLJQDWHG DV WKH QDWLRQDO ELUG R I  ,QGLD 
is  coded  a s  
5 6 8 8 9 9 9  3 5  1 1 3 5 5 5 6 6 7 8  5 6  4 5 8  1 3 6 6 6 6 8 9  1 3 3 4  7 9  1 3 3 6 6  

This coding scheme h a s  the folloVoling rules: 

1. The s c h e m e  is  case- insensi t ive  (does not  dist inguish between upper case  a n d  lower c a s e  letters).
2. Each letter h a s  a unique  code  which i s  a single digit from a m o n g  1,2,3, ... , 9.
3. The digit 9 c o d e s  two letters, a n d  every other digit c o d e s  three letters.
4. The code  for a word i s  constructed b y  arranging the digits corresponding t o  its letters i n  a n o n -

decreasing sequence.

Answer these  quest ions  o n  the bas i s  o f  this information. 

Sub questions 

Question Number: 51 Question Id: 4891686563 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Vin1at best  c a n  be  concluded about  the code for the  letter L? 
Options: 
1. . , ,  1

2 • 6 

�. ,& 8
4. • 1 or 8

Question Number: 52 Question Id: 4891686564 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Vin1at best  c a n  b e  concluded about  the code for the  letter B? 
Options: 

1. • 1
2 • 3 

3 . . , ,  3 or 4 

4. • 1 or 3 or 4

Question Number: 53 Question Id: 4891686565 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 

Yes Single Line Question 

DVNHG WR ZLWKGUDZ IURP RQH 
VL[ OHVV WKDQ WKH QXPEHU 

E\ RQH� $IW-HU WKH 



Correct Marks : 3 Wrong Marks : 1 
)or how many diJits can the complete list of letters associated with that diJit be identified" 
Options: 

�. � 0
2. � �
� . .,, 2
�. �& �

Question Number: 54 Question Id: 4891686566 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9inlich set of letters &$112T be coded with the same diJit" 
Options: 

�. �& ;,<,=
2 .,, 6,8,9
�. ; I,%,0
�. ; 6,(,=

Question Id : 4891687328 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (55 to 58) 
The base exchanJe rate of a currency ; with respect to a currency < is the number of units of currency < 
which is eTuivalent in value to one unit of currency ;. &urrency exchanJe outlets buy currency at buyinJ 
exchanJe rates that are lower than base exchanJe rates, and sell currency at sellinJ exchanJe rates that are 
hiJher than base exchanJe rates. 

$ currency exchanJe outlet uses the local currency / to buy and sell three international currencies $, %, and &, 
but does not exchanJe one international currency directly with another. The base exchanJe rates of $, %and  & 
with respect to /are in the ratio �00� �20� �. The buyinJ exchanJe rates of each of $, %, and & with respect to / 
are 5� below the correspondinJ base exchanJe rates, and their sellinJ exchanJe rates are �0� above their 
correspondinJ base exchanJe rates. 
The followinJ facts are Nnown about the outlet on a particular day� 

�. The amount of / used by the outlet to buy & eTuals the amount of /it received by sellinJ &. 
2 The amounts of / used by the outlet to buy $ and %are in the ratio 5��. 
�. The amounts of / the outlet received from the sales of $ and %are in the ratio 5��
� The outlet received 88000 units of / by sellinJ $ durinJ the day
5. The outlet started the day with some amount of /, 2500 units of $, �800 units of (, and �8000 units

of &. 
�. The outlet ended the day with some amount of /, ��00 units of $, �800 units of %, and 5�000 units of

&. 

Sub questions 

Question Number: 55 Question Id: 4891687405 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
+ow many units of currency $ did the outlet buy on that day" 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
1200 

Question Number: 56 Question Id: 4891687330 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 

identified" 



+ow many units of currency & did the outlet sell on that day" 
Options: 

�. -& �000

2. �000

� . .,, ��000

�. -& 22000

Question Number: 57 Question Id: 4891687406 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
9vhat was the base exchanJe rate of currency % with respect to currency /on  that day" 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
2�0 

Question Number: 58 Question Id: 4891687332 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9vhat was the buyinJ exchanJe rate of currency & with respect to currency /on  that day" 
Options: 
�. 0.�5

2 -& �.�0 

� . .,, �.�0 

�. -& 2.20

Question Id : 4891687348 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (59 to 62) 
6even candidates, $Nil, %alaram, &hitra, 'ivya, (rina, )atima, and *aneshan, were invited to interview for a 
position. &andidates were reTuired to reach the venue before 8 am. Immediately upon arrival, they were sent 
to one of three interview rooms� � 0 �, �02, and �0� The followinJ venue loJ shows the arrival times for these 
candidates. 6ome of the names have not been recorded in the loJ and have been marNed as 
"
. 

Time 7��0 am , 7��5 am , 7�25am 7��0 am
3erson $Nil," " " &hitra 

$dditionally here are some statements from the candidates� 

%alaram� I was the third person to enter 5oom �0�. 
&hitra� I was the last person to enter the room I was allotted to. 
(rina� I was the only person in the room I was allotted to. 

7��0am , 7��6amB-
)atima ,, "

)atima� Three people includinJ $Nil were already in the room that I was allotted to when I entered it. 
*aneshan� I was one amonJ the two candidates allotted to 5oom �02. 
Sub questions 

Question Number: 59 Question Id: 4891687349 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9vhat best can be said about the room to which 'ivya was allotted" 

Options: 

Yes 



1. . ;  Definitely R o o m  101

2. • Definitely R o o m  1 0 2

3. • Definitely R o o m  1 0 3

4. Either R o o m  101  or R o o m  1 0 2

Question Number: 60 Question Id: 4891687350 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
?An1o else w a s  in R o o m  1 0 2  w h e n  *aneshan entered? 

Options: 
1. ; Akil

2 • Divya 

3. • Chitra

4 . . ; N o  one  

Question Number: 61 Question Id: 4891687351 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
Vin1en d id  Erina reach the venue? 

Options: 
1. • 7 :10  a m

2 • 7 :15  a m

3. • 7 :25  a m

4 . . ;  7 :45  a m

Question Number: 62 Question Id: 4891687352 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
If  *aneshan entered the venue  before Divya, when  d id  Balaram enter the venue? 
Options: 

1. • 7 :10  a m

2 7 :15  a m

3 . . ;  7 :25  a m

4. • 7 :45  a m

Question Id : 4891687383 Question Type : COMPRE+ENSION Sub Question Shuffling Allowed : No *roup Comprehension 
Questions: No 
Question Numbers : (63 to 66) 



(ach visitor to an amusement parN needs to buy a ticNet. TicNets can be 3latinum, *old, or (conomy. 9isitors 
are classified as 2ld, 0iddle�aJed, or <ounJ. The follo9t"i.nJ facts are Nnown about visitors and ticNet sales on a 
particular day� 

�. ��0 ticNets were sold.
2. The number of 0iddle�aJed visitors was t9t"i.ce the number of 2ld visitors, while the number of <ounJ

visitors was t9t"i.ce the number of 0iddle�aJed visitors.
�. <ounJ visitors bouJht �8 of the 55 (conomy ticNets that were sold, and they bouJht half the total

number of 3latinum ticNets that were sold.
�. The number of *old ticNets bouJht by 2ld visitors was eTual to the number of (conomy ticNets bouJht

by 2ld visitors.

Sub questions 

Question Number: 63 Question Id: 4891687421 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
I f  the number of 2ld visitors buyinJ 3latinum ticNets was eTual to the number of 0iddle�aJed visitors buyinJ 
3latinum ticNets, then which amonJ the follo9t"i.nJ could be the total number of 3latinum ticNets sold" 
Options: 

� . . ,  �2 
2 �C �� 
�. �C �8 
�. • �� 

Question Number: 64 Question Id: 4891687422 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
I f  the number of 2ld visitors buyinJ 3latinum ticNets was eTual to the number of 0iddle�aJed visitors buyinJ 
(conomy ticNets, then the number of 2ld visitors buyinJ *old ticNets was 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
� 

Question Number: 65 Question Id: 4891687408 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
I f  the number of 2ld visitors buyinJ *old ticNets was strictly Jreater than the number of <ounJ visitors buyinJ 
*old ticNets, then the number of 0iddle�aJed visitors buyinJ *old ticNets was 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
0 

Question Number: 66 Question Id: 4891687387 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
9inlich of the follo9t"i.nJ statements 086T be )$/6(" 
Options: 

�. � The numbers of 0iddle�aJed and <ounJ visitors buyinJ *old ticNets were eTual
2 . . ,  The numbers of 2ld and 0iddle�aJed visitors buyinJ (conomy ticNets were eTual
�. � The numbers of *old and 3latinum ticNets bouJht by <ounJ visitors were eTual
�. � The numbers of 2ld and 0iddle�aJed visitors buyinJ 3latinum ticNets were eTual

*old, or (conomy. 9isitors 
visitors and ticNet sales on a 

while the number of <ounJ

bouJht half the total

of (conomy ticNets bouJht



Section Id: 
Section Number: 
Section type : 
Mandatory or Optional: 
Number of Questions: 
Number of Questions to be attempted: 
Section Marks: 
Display Number Panel: 
*roup All Questions: 

Sub-Section Number: 
Sub-Section Id: 
Question Shuffling Allowed : 

4$ 
4891�81�04 
1 
2QliQe 
0aQGaWRr\ 
�4 
�4 
102 
Yes 
NR 

1 
4891�81410 
Yes 

Question Number: 67 Question Id: 4891686961 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
2Q a lRQJ sWreWcK RI easW�ZesW rRaG� $ aQG %are WZR SRiQWs sucK WKaW %is ��0 Nm ZesW RI $. 2Qe car sWarWs 
IrRm $ aQG aQRWKer IrRm %aW WKe same Wime. ,I WKe\ mRYe WRZarGs eacK RWKer� WKeQ WKe\ meeW aIWer 1 KRur. ,I 
WKe\ ERWK mRYe WRZarGs easW� WKeQ WKe\ meeW iQ � Krs. 7Ke GiIIereQce EeWZeeQ WKeir sSeeGs� iQ Nm Ser KRur� is 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
�0 

Question Number: 68 Question Id: 4891687069 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
3RiQWs $ aQG %are 1�0 Nm aSarW. &ars 1 aQG 2 WraYel IrRm $ WR %� EuW car 2 sWarWs IrRm $ ZKeQ car 1 is 
alreaG\ 20 Nm aZa\ IrRm $. EacK car WraYels aW a sSeeG RI 100 NmSK IRr WKe IirsW �0 Nm� aW �0 NmSK IRr WKe 
Qe[W �0 Nm� aQG aW 2� NmSK IRr WKe lasW �0 N m .  7Ke GisWaQce� iQ Nm�  EeWZeeQ car 2 aQG % ZKeQ car 1 reacKes 
%is 

Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
� 

Question Number: 69 Question Id: 4891687176 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

The arithmetic mean of x, y and z is 80, and that of x, y, z, u and v is 7 5, 
where u=(x+y)/2 and v=(y+z)/2. If x > z, then the minimum possible value 
of x i s  
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 



Possible Answers : 
10� 

Question Number: 70 Question Id: 4891687453 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
$ ZaWer WaQN Kas iQleWs RI WZR W\Ses $ aQG E. $ll iQleWs RI W\Se $ ZKeQ RSeQ� EriQJ iQ ZaWer aW WKe same raWe. $ll 
iQleWs RI W\Se %� ZKeQ RSeQ� EriQJ iQ ZaWer aW WKe same raWe. 7Ke emSW\ WaQN is cRmSleWel\ IilleG iQ �0 miQuWes 
iI 1 R iQleWs RI W\Se $ aQG 4� iQleWs RI W\Se % are RSeQ� aQG iQ 1 KRur iI 8 iQleWs RI W\Se $ aQG 18 iQleWs RI W\Se %
are RSeQ. ,Q KRZ maQ\ miQuWes Zill WKe emSW\ WaQN JeW cRmSleWel\ IilleG iI � iQleWs RI W\Se $ aQG 2� iQleWs RI 
W\Se %are RSeQ" 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
48 

Question Number: 71 Question Id: 4891687506 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

*opal borrows Rs. ; from Ankit at 8� annual interest. +e then adds Rs. Y of 
his own money and lends Rs. ;+ Y to lshan at 10� annual interest. At the end 
of the year, after returning Ankit
s dues, the net interest retained by *opal 1s 
the same as that accrued to Ankit. On the other hand, had *opal lent Rs. 
;+2Y to lshan at 10�, then the net interest retained by him would have 
increased by Rs. 150. If all interests are com pounded annually, then find the 
value of ; + Y. 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
4000 

Question Number: 72 Question Id: 4891686644 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
5amesK aQG *aQesK caQ WRJeWKer cRmSleWe a ZRrN iQ 1� Ga\s. $IWer seYeQ Ga\s RI ZRrNiQJ WRJeWKer� 5amesK 
JRW sicN aQG Kis eIIicieQc\ Iell E\ �0�. $s a resulW� WKe\ cRmSleWeG WKe ZRrN iQ 1� Ga\s iQsWeaG RI 1� Ga\s. ,I 
*aQesK KaG ZRrNeG alRQe aIWer 5amesK JRW sicN� iQ KRZ maQ\ Ga\s ZRulG Ke KaYe cRmSleWeG WKe remaiQiQJ 
ZRrN" 

Options: 

1. ; 11 
2. ; 12 
�� .�� 1�.�
4. �C 14.�

Question Number: 73 Question Id: 4891686870 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
3RiQWs $� 3� 4 aQG % lie RQ WKe same liQe sucK WKaW 3� 4 aQG % are� resSecWiYel\� 100 Nm� 200 Nm aQG �00 Nm 
aZa\ IrRm $. &ars 1 aQG 2 leaYe $ aW WKe same Wime aQG mRYe WRZarGs %. 6imulWaQeRusl\� car � leaYes %aQG 
mRYes WRZarGs $. &ar � meeWs car 1 aW 4 aQG car 2 aW 3 ,I eacK car is mRYiQJ iQ uQiIRrm sSeeG WKeQ WKe raWiR 
RI WKe sSeeG RI car 2 WR WKaW RI car 1 is 

Yes 

iQ ZaWer aW WKe same raWe. $ll 
cRmSleWel\ IilleG iQ �0 miQuWes 

W\Se $ aQG 18 iQleWs RI W\Se %
RI W\Se $ aQG 2� iQleWs RI 



Options: 

�� �� �
�� ,& �� �
� � ��� �� �
�� �C �� �

Question Number: 74 Question Id: 4891686960 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
$ MDU FRQWDLQV D PL[WXUH RI ��� PO Y��DWHU DQG ��� PO DOFRKRO� *RSDO WDNHV RXW ��� RI WKH PL[WXUH DQG 
VXEVWLWXWHV LW E\ Y��DWHU RI WKH VDPH DPRXQW� 7KH SURFHVV LV UHSHDWHG RQFH DJDLQ� 7KH SHUFHQWDJH RI Y��DWHU LQ WKH 
PL[WXUH LV QRZ 
Options: 

�� ���� 
� �C ���� 
�� �C ���� 
� � ��� ���� 

Question Number: 75 Question Id: 4891687086 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
$ WDQN LV HPSWLHG HYHU\GD\ DW D IL[HG WLPH SRLQW� ,PPHGLDWHO\ WKHUHDIWHU� HLWKHU SXPS $ RU SXPS % RU ERWK 
VWDUW ZRUNLQJ XQWLO WKH WDQN LV IXOO� 2Q 0RQGD\� $ DORQH FRPSOHWHG ILOOLQJ WKH WDQN DW � SP� 2Q 7XHVGD\� % 
DORQH FRPSOHWHG ILOOLQJ WKH WDQN DW � SP� 2Q :HGQHVGD\� $ DORQH ZRUNHG WLOO � SP� DQG WKHQ % ZRUNHG DORQH 
IURP � SP WR 7 SP� WR ILOO WKH WDQN� $W ZKDW WLPH Y��DV WKH WDQN ILOOHG RQ 7KXUVGD\ LI ERWK SXPSV ZHUH XVHG 
VLPXOWDQHRXVO\ DOO DORQJ? 
Options: 

�� � ���� SP
� � ��� ���� SP
�� � ���� SP
�� � ���� SP

Question Number: 76 Question Id: 4891687089 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
7KH VWUHQJWK RI D VDOW VROXWLRQ LV S� LI ��� PO RI WKH VROXWLRQ FRQWDLQV S JUDPV RI VDOW� , I  WKUHH VDOW VROXWLRQV $� 
%� & DUH PL[HG LQ WKH SURSRUWLRQ � � � � �� WKHQ WKH UHVXOWLQJ VROXWLRQ KDV VWUHQJWK ���� , I  LQVWHDG WKH 
SURSRUWLRQ �V �� �� �� WKHQ WKH UHVXOWLQJ VROXWLRQ KDV VWUHQJWK ���� $ IRXUWK VROXWLRQ� '� LV SURGXFHG E\ 
PL[LQJ %DQG & LQ WKH UDWLR � � �� 7KH UDWLR RI WKH VWUHQJWK RI ' WR WKDW RI $ LV 
Options: 

� � � � � �  
�� ,& �� �� 
� � ��� � � �
�� �C �� �

Question Number: 77 Question Id: 4891687097 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
/HW D�� D�� ��� � D�� EH SRVLWLYH LQWHJHUV VXFK WKDW D� � D� � ��� � D��� 6XSSRVH� WKHLU DULWKPHWLF PHDQ LV RQH OHVV 
WKDQ WKH DULWKPHWLF PHDQ RI D�� D�� ��� � D��� , I  D��   ���� WKHQ WKH ODUJHVW SRVVLEOH YDOXH RI D� LV 

Yes Single Line Question 



Options: 

1. 2 0

2 . . ,  2 3

3. • 4 5

4. • 4 8

Question Number: 78 Question Id: 4891687100 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The scores  o f  Amal a n d  Bimal in a n  examination are in the ratio 11 : 14. After a n  appeal, their scores  increase 
b y  the s a m e  amount  a n d  their n e w  scores  are in  the ratio 4 7 : 56.  The ratio o f  Bimal
s n e w  score to that o f  h is  
original score is  

Options: 

1. ; 3 :  2

2 . . ,  4 :  3

3. ; 5 :  4

4. • 8 :  S

Question Number: 79 Question Id: 4891687104 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
There are two drums,  each  containing a mixture o f  pain ts  A a n d  B. In d r u m  1, A a n d  E are in the ratio 1 8  : 7. 
The mixtures from drums  1 a n d  2 are mixed in the ratio 3 : 4 a n d  in this final mixture, A a n d  B are in the ratio 
1 3 :  7. In d r u m  2, then A a n d  B were in the  ratio 
Options: 

1. ; 2 2 0 :  1 4 9

2. ; 2 2 9 :  1 4 1

3 . . , 2 3 9 :  1 6 1

4. ; 2 5 1  : 1 6 3

Question Number: 80 Question Id: 4891687435 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
A 20� ethanol solution i s  mixed  with another ethanol solution, say,  S o f  unknown concentration in the 
proportion 1: 3 b y  volume. This mixture is  then mixed  with a n  equal  vo lume o f  20� ethanol solution. If  the  
resultant mixture is  a 31 .  25� ethanol solution, then the unknown concentration o f  S i s  
Options: 

1 . . ,  50� 

2 • 55� 

3 • 48� 

4. • 52� 

Question Number: 81 Question Id: 4891686711 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
A triangle ABC h a s  area 3 2  s q  units  a n d  its s ide  BC, o f  length 8 units, lies o n  the line x = 4. Then the shortest  
poss ib le  distance between A a n d  the point (0, O) is  
Options: 
1 . . ,  4 units  

Yes Single Line Question 



2. • 2 2 units

3. • 4 2 units
4. • 8 units

Question Number: 82 Question Id: 4891686905 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
A chord of length 5 cm subtends an angle of 60 ° at the centre of a circle. The length, in cm, of a chord that 
subtends an angle of 120 ° at the centre of the same circle is 
Options: 

1 . . ,  5 3 
2. X � 2

�. 2.ir 

4. $C 8

Question Number: 83 Question Id: 4891686935 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
A parallelogram AECD has area 48 sqcm. If the length of CD is 8 cm and that of AD is s cm, then which one of 
the follo¥Ving is necessarily true? 
Options: 

1. $C S:::06 
2 . ,  s;::6
3. $C S;t:6 
4. • �����s����� 

Question Number: 84 Question Id: 4891687106 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The area of a rectangle and the square of its perimeter are in the ratio 1 : 25. Then the lengths of the shorter 
and longer sides of the rectangle are in the ratio 
Options: 

1. X 1:3
2 . �  1�4 
3. • 3:8
4. $C 2:9

Question Number: 85 Question Id: 4891687423 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
From a rectangle AECD of area 768 sq cm, a semicircular part ¥Vi th diameter AE and area 72TT sq cm is 
removed. The perimeter of the leftover portion, in cm, is 
Options: 

1. . ,  88 + 12TT 
2. ; 8� � 877 
3. ,C 82 + 24TT 
4 IC 80 + 16TT 

Question Number: 86 Question Id: 4891687470 Question Type: SA Display Question Number: Yes 

Yes Single Line Question 

in cm, of a chord that 



Correct Marks : 3 Wrong Marks : 0 

On a triangle ABC, a circle with diameter BC is drawn, intersecting AB and AC 
at points P and Q, respectively. If the lengths of AB, AC, and CP are 30 cm, 
2 5 cm, and 20 cm respectively, then the length of BQ, in cm, is 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
24 

Question Number: 87 Question Id: 4891686661 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 

I f  p3 = q 4 = r5 = s6, then the value o f  log8 (pqr) i s  equal  to

Options: 
17 

1. 

2!1 
2 . •  � 

l�0 
� . •  � 

4 . •  1 

Question Number: 88 Question Id: 4891686664 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 

The smallest integer n for which 4 n ! 1 7 1 9 holds,  i s  c losest  t o
Options: 

1 . . �  �9 
2 • �� 
�. • �� 
4. ��

Question Number: 89 Question Id: 4891686879 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 

, 1 l l - - - - - - - + - - - - - - - + - - - - - - - + - - - - ?  
log2 l O log4 100 log lOO I g10 100 logw 100 I g. 100 I 

Options: 

1. • ��
2 • 0
3. • 10

�
4. 2

intersecting AB and AC 
and CP are 30 cm, 
cm, is 



Question Number: 90 Question Id: 4891687460 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
,I WKe sum RI squares RI WZR QumEers is 9�� WKeQ ZKicK RQe RI WKe IRllRZiQJ caQQRW Ee WKeir SrRGucW" 
Options: 

1. ; 1�
2 ; � � 2
3. ; 4 8

4 . . � � � 4  

Question Number: 91 Question Id: 4891687476 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
+RZ maQ\ WZR�GiJiW QumEers� ZiWK a QRQ�]erR GiJiW iQ WKe uQiWs Slace� are WKere ZKicK are mRre WKaQ WKrice 
WKe QumEer IRrmeG E\ iQWercKaQJiQJ WKe SRsiWiRQs RI iWs GiJiWs" 
Options: 

1. . � �  �
2 • � 
�. • � 
4. • 8 

Question Number: 92 Question Id: 4891687168 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

If N and x are positive integers such that NŹ
• = 2 1�1! and N2 + 2   is an integral

multiple of 2x, then the largest possible x is 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
10 

Question Number: 93 Question Id: 4891687170 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

If a and bare integers such that 2x 2 -ax+ 2 ! 0 and x2 -bx  + 8 ! 0 for all 
real numbers x, then the largest possible value of 2a-6b  1s 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
�� 

Question Number: 94 Question Id: 4891687503 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

7Ke smallesW iQWeJer Q sucK WKaW Q 3 - 1 lQ 2 � �2Q � 28 ! 2 is 
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
8 

Yes Single Line Question 

Ee WKeir SrRGucW" 



Question Number: 95 Question Id: 4891687145 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 
In a tournament, there are 4 3  junior level a n d  5 1  senior level participants. Each pair o f  juniors  play one  
match. Each pair o f  seniors play  o n e  match. There is  n o  junior versus  senior match. The number  o f  girl versus  
girl matches  in junior level 1s 153,  while the number  o f  b o y  versus  b o y  matches  i n  senior level is  2 7 6 .  The 
number  o f  matches  a b o y  p lays  against  a girl i s  
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
1098 

Question Number: 96 Question Id: 4891687162 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

Let t1, t2, ... b e  real numbers  s u c h  that t1 +t2  + ... + tn  = 2 n  2 + 9 n  + 13, for every positive integer n ;;:: 2. I f  tk = 103,

then k equa l s  
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
24 

Question Number: 97 Question Id: 4891687163 Question Type: SA Display Question Number: Yes 
Correct Marks : 3 Wrong Marks : 0 

Let f(x)=max{5x, 5 2 - 2 x 2 }, where x i s  a n y  positive real number.  Then the m i n i m u m  poss ible  value o f  f(x) is  
Response Type: Numeric 
Evaluation Required For SA: Yes 
Show Word Count: Yes 
Answers Type: Equal 
Possible Answers : 
20 

Question Number: 98 Question Id: 4891686680 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
The value o f  the s u m  7 x 11  + 11 x 1 5  + 1 5  x 1 9  + ... + 9 5  x 9 9  is  
Options: 

1 . ., 80707 

2 • 80730 
3. • 80751 
4. • 80773 
Question Number: 99 Question Id: 4891686683 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 

If  A =  {6 2 n - 3 5 n  -1:  n = 1,2,3, ... } a n d  B = {35 (n -1 ) :  n = 1,2,3, ... } then which o f  the following is  true? 
Options: 
1. • Neither every member  o f  A is  in B nor every member o f  B i s  in A

2 • Every member o f  B is  in A. 

3. At least o n e  member o f  A is  not in E

Yes 

pair o f  juniors  play one  
The number  o f  girl versus  

senior level is  2 7 6 .  The 



� . . ,  (very member of $ is in %and at least one member of % i s  not in $ 

Question Number: 100 Question Id: 4891686691 Question Type: MCQ Display Question Number: Yes Single Line Question 
Option: No Option Orientation: Vertical 
Correct Marks : 3 Wrong Marks : 1 
)or two sets $ and %, let $.�.% denote the set of elements which belonJ to $ or % but not both. I f  3 = ^�,2,�,� ,̀ 4
= ^2,�,5,�-, 5 = ^�,�, 7,8, �̀ , 6 = ^2,�, �, �0̀ , then the number of elements in (3.�.4).�.(5.�.6) is 
Options: 

�. � �

2 . . �  � 
�. �& 8

�. �& �

Number: Yes Single Line Question 

nottt both. I f 3 = ^�,2,�,� ,̀ 4
5.5.5.�.6666)6)6)6)6)) is




